

BID SUMMARY



CITY OF WESTERVILLE

21 S. STATE STREET WESTERVILLE, OH 43081

Engineer's Estimate for the Base Bid: \$1,647,000 Engineer's Estimate for Alternate A: \$98,000

COMPANY	INFORMAL TOTAL OF BASE BID ITEMS (Lines 1 thru 117)	ADJUSTED TOTAL OF BASE BID ITEMS (Lines 1 thru 117)	DIFFERENCE	ALTERNATE A INFORMAL TOTAL OF BID ITEMS (Lines A- 1 thru A-15)	Total with Recommended Alternates
Strawser Paving Company	\$1,678,265.52	\$1,678,265.52	\$0.00	\$103,824.89	\$1,782,090.41
Decker Construction Company	\$1,679,724.96	\$1,679,724.96	\$0.00	\$104,425.07	\$1,784,150.03
Kokosing Construction Company	\$1,991,467.01	\$1,991,467.01	\$0.00	\$143,428.05	\$2,134,895.06

EXPLANATION: The informal total of bid items listed above represents the bidder's total amount for the project. The adjusted total of bid items amount represents the corrected total that was necessary to correct any bidder's mathematical errors.

2022 ARTERIAL RESURFACING & STRIPING (Project No. 2022-006) BID TABULATION

City of Westerville, 21 S State St, Westerville OH, 43081

Bid Date: January 6, 2022, 3:00 PM

Engineer's Estimate for the BASE BID: \$1,622,000.00

			BASE BID: \$1,622,000.00 ernate A: \$98,000.00										
						Strawser Paving 1595 Frank Road, Columbus OH	,		Decker Construction 3042 McKinley Avenue, Columbus O	н	62 W	Nosing Instruction 35 Westerville Road Esterville OH	Ļ
						614-276-5273			614-488-7958		61	4-212-5700	
				(A)		(B)	(C)		(B)	(C)		(B)	(C)
ITEM	SPEC	CMS	DESCRIPTION	QUANTITY	UNIT		Unit Item TOTAL IN FIGURES (A x B)		UNIT PRICE	Unit Item TOTAL IN FIGURES (A x B)		UNIT PRICE	Unit Item TOTAL IN FIGURES (A x B)
			STREETS & PAVEMENT MARKINGS										
1	201	COLS	TREE TRIMMING, AS DIRECTED	5.00	EA	\$50.00	\$250.00	_	\$250.00	\$1,250.00	\$5	00.00	\$2,500.00
2	202	COLS	CURB AND GUTTER REMOVED	3,050.00	FT	\$8.60	\$26,230.00	_	\$8.41	\$25,650.50	\$1	0.50	\$32,025.00
3	12202	WEST	CONCRETE COLLAR REMOVED, AS DIRECTED	20.00	SY	\$43.00	\$860.00	_	\$62.65	\$1,253.00	\$1	25.00	\$2,500.00
4	202	COLS	PAVEMENT REMOVED, AS DIRECTED	140.00	SY	\$19.35	\$2,709.00	_	\$46.82	\$6,554.80	\$3	7.00	\$5,180.00
5	202	COLS	WALK REMOVED	800.00	SF	\$4.30	\$3,440.00		\$6.26	\$5,008.00	\$5	.30	\$4,240.00
6	251	COLS	PARTIAL DEPTH PAVEMENT REPAIR	100.00	SY	\$20.03	\$2,003.00	_	\$40.83	\$4,083.00	\$9	9.00	\$9,900.00
7	252	COLS	FULL DEPTH PAVEMENT SAWING, AS DIRECTED	250.00	FT	\$1.18	\$295.00		\$5.00	\$1,250.00	\$2	.00	\$500.00
8	253	COLS	PAVEMENT REPAIR	320.00	SY	\$120.48	\$38,553.60	_	\$140.00	\$44,800.00	\$1	85.00	\$59,200.00
9	254	COLS	PAVEMENT PLANING, 1-1/2", ASPHALT CONCRETE	37,278.00	SY	\$2.15	\$80,147.70	_	\$2.17	\$80,893.26	\$2	.55	\$95,058.90
10	254	COLS	PAVEMENT PLANING, 3", ASPHALT CONCRETE	16,081.00	SY	\$2.96	\$47,599.76	_	\$3.15	\$50,655.15	\$4	.05	\$65,128.05
11	407	COLS	NON TRACKING TACK COAT (0.07 GAL/SY)	3,760.00	GAL	\$5.00	\$18,800.00	_	\$4.05	\$15,228.00	\$2	.40	\$9,024.00
12	12423	WEST	CRACKSEALING, TYPE II	49,000.00	LB	\$1.25	\$61,250.00	_	\$1.32	\$64,680.00	\$1	.29	\$63,210.00
13	441	COLS	ASPHALT CONCRETE, INT. COURSE, PG64-22	341.00	CY	\$179.35	\$61,158.35	_	\$169.18	\$57,690.38	\$2	25.00	\$76,725.00
14	441	COLS	ASPHALT CONCRETE, INT. COURSE, TYPE 2, PG64-28	394.00	CY	\$188.80	\$74,387.20	_	\$175.18	\$69,020.92	\$2	26.00	\$89,044.00
15	441	COLS	ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) PG64-22	350.00	CY	\$198.02	\$69,307.00	_	\$217.68	\$76,188.00	\$2	26.00	\$79,100.00
16	441	COLS	ASPHALT CONCRETE, SUR. COURSE, TYPE 1, PG70-22M	2,094.00	CY	\$206.65	\$432,725.10	_	\$210.13	\$440,012.22	\$2	15.00	\$450,210.00
17	12452	WEST	6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS COC MS	65.00	SY	\$80.62	\$5,240.30	_	\$77.53	\$5,039.45	\$1	02.00	\$6,630.00
18	12452	WEST	8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS COC MS	75.00	SY	\$90.29	\$6,771.75	_	\$89.73	\$6,729.75	\$1	05.00	\$7,875.00
19	603	COLS	3" CONDUIT, 720.08	270.00	FT	\$12.90	\$3,483.00	_	\$15.13	\$4,085.10	<u>\$1</u>	1.00	\$2,970.00
20	604	COLS	CURB INLET ADJUSTED TO GRADE	1.00	EA	\$376.21	\$376.21	_	\$500.00	\$500.00	\$6	70.00	\$670.00
21	604	COLS	CURB INLET RECONSTRUCTED TO GRADE	1.00	EA	\$591.18	\$591.18	_	\$2,500.00	\$2,500.00	\$2	,250.00	\$2,250.00
22	12604	WEST	MANHOLE ADJUSTED TO GRADE, ASPHALT COLLAR	1.00	EA	\$1,074.87	\$1,074.87	_	\$1,777.89	\$1,777.89	\$8	50.00	\$850.00
23	12604	WEST	MANHOLE ADJUSTED TO GRADE, CORED CONCRETE COLLAR	4.00	EA	\$1,074.87	\$4,299.48	_	\$1,777.89	\$7,111.56	\$2	,550.00	\$10,200.00
24	604	COLS	MONUMENT BOX ADJUSTED TO GRADE	2.00	EA	\$102.13	\$204.26	_	\$300.00	\$600.00	\$1	,570.00	\$3,140.00
25	605	COLS	6" UNDERDRAIN, 720.12, TYPE SP	3,050.00	FT	\$9.14	\$27,877.00	_	\$11.38	\$34,709.00	\$1	0.25	\$31,262.50
26	12608	WEST	4" CONCRETE WALK, CLASS COC 5	320.00	SF	\$16.12	\$5,158.40	_	\$10.77	\$3,446.40	<u>\$1</u>	6.40	\$5,248.00
27	12608	WEST	8" CONCRETE WALK, CLASS COC 5, AS DIRECTED	700.00	SF	\$9.67	\$6,769.00	_	\$11.81	\$8,267.00	\$1	6.60	\$11,620.00
28	12608	WEST	CURB RAMP, CLASS COC 5	4.00	EA	\$188.10	\$752.40	_	\$458.44	\$1,833.76	\$2	95.00	\$1,180.00
29	12608	WEST	DETECTABLE WARNING, TYPE "E", DARK GREY	32.00	SF	\$22.84	\$730.88	_	\$32.50	\$1,040.00	\$2	4.00	\$768.00
30	12609	WEST	3.5" DIAMETER CORED CURB	54.00	EA	\$37.62	\$2,031.48	_	\$57.57	\$3,108.78	\$6	3.50	\$3,429.00
31	12609	WEST	COMBINATION CURB AND GUTTER, TYPE STANDARD, CLASS COC 5, AS PER PLAN	3,050.00	FT	\$22.03	\$67,191.50		\$21.43	\$65,361.50	\$2	6.50	\$80,825.00

a b	32	12609	WEST CURB, STRAIGHT 18", SPOT, CLASS COC 5	650.00	FT	\$32.25	\$20,962.50	\$39.64	\$25,766.00	\$70.75	\$45,987.50
h ds ds </td <td></td>											
15 64 0.0000 9.00000 9.00000											
9 900 900 910 920 920 920 920 920 920 920 920 920 920 920 920 920 920 920 920 920 920 9200 9											
1 1											
9 80 0.00 80.00 90.00 </td <td></td>											
9 82 02 0.05 0.055000 0.050000											
4 64 65 650000 65000000 65000000 65000000 65000000 65000000 650000000 6500000000 650000000 6500000000 6500000000 65000000000000000000000000000000000000											
44 64 603 BUTLENE NUMBER MERGEN (NPE1 120 14 282.99 957.99 282.99 957.99 92.99 957.99 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.407.45 13.807.90 91.40											
4 64 603 6.0.5 MERNAL DUME BAD, TYPE 1, * 15 14 124723 5.127.2 5.147.45 5.130.30 5.127.20 4 40 0.0.5 CHTERAL DULGAMED, TYPE 1, * 2.13 4 9927.30 5.1696.31 5927.30 51.09.20 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 51.00 50.00 51.00 50.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>											
4 62 63 64 63 63 64 63 63 63 64 63 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 64 64 63 </td <td></td>											
4 42 0.3 0.4 0.4 0.4 0.5 <th0.5< th=""> <th0.5< th=""> <th0.5< th=""></th0.5<></th0.5<></th0.5<>											
44 62 63.3 64.9 63.0 67.0 53.0 53.19 53.0 53.00 50.00											
He COS COS CONSTRUCTIVE P SUD FT SUD FT SUD FT SUD SUD SUD SUD <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>											
1 9 0.03 DOTISD LINE WINTE ("LINE 1 GAPL TIPE 1, 4" 91.00 FT 50.37 521.67 50.88 520.86 525.55 4 62 0.03 DOTISD LINE WINTE ("LINE 1 GAPL TIPE 1, 4" 10.0 11 4 522.26 522.23.17 578.64 52.33.5 53.00											
4 60 Cols DOTTED LINE, YMPE 1, 4° 500 FT 5102 51103 51150 5100 5800 4 60 Cols EDD TLED, UNE, YMPE 1, 4° 317 M 372.42.6 52.22.17 576.45 573.45.6 573.60.0 573.00 573.45.6 573.50.0 573.00 573.45.6 573.00 573.00 573.45.6 573.00 573											
4 642 COLD EDDELIME: TYPE 1, 4° 3.17 M 572.28 52.337.1 373.45 52.335.5 571.50 52.285.5 5 642 COLE EDDELIME: TYPE 1, 4° 700 M 550.992.25 530.357.86 530.357.86 536.00 531.00 531.00 531.00 513.00 530.00 513.00 530.00 513.00 530.00 513.00 530.00		•									
5 642 COLS EDDELINE, TYPE 1, 8' 0.40 M 5889.00 5395.64 5993.95 5397.50 5980.00 5380.00 61 62 COLS LANE ARROW, TYPE 1, 4' 75.00 F.X 579.25 55.589.25 55.65.00 530.34 550.20 553.00 550.00 553.00 550.00 553.00 550.00 553.00 550.00 550.00 550.00 550.00 550.00 550.00 550.00 550.00 55											
1 4/2 Cus LARE ARROW, TYPE 1 7.000 EA 57.90 55.990.25 58.0.41 56.0.25 55.0.00 51.22.50 16 6/2 Cus LARE LIRE, TYPE 1, 4" 0.70 M 55.3.23 553.55.51 55.55 5											
S2 642 COLS LAME LINE, TYPE 1, 4" D.25 M S43.2.5 S135.81 S344.2.5 S135.81 S344.2.5 S135.81 S344.2.5 S135.81 S344.2.5 S135.81 S344.5.5 S135.81 S344.5.5 S135.81 S344.5.5 S135.81 S345.5.5 S135.81 S345.5.5 S135.81 S345.5.5 S135.81 S345.5.5 S135.5 S145.5 S145.5 S145.5 S145.5 S145.5 S145.5 S145.5 S145.5 S145.5 S141.00 S22.2.5 S23.0.0 S11.00 S22.5 S23.0.0 S11.00 S22.5 S23.0.0 S11.00 S22.5 S23.0.0 S141.00 S15.5 S145.5 S145.5 S145.5 S145.0 S35.0.0 S70.00 S140.00 S22.5 S23.00 S70.00 S35.00 S70.00 S35.00 S70.00 S35.00 S70.00 S35.00 S70.00 S35.00 S70.00 S35.00 S30.00 S15.0 S35.00 S10.00 S35.00 S30.00 S15.0 S35.00 S10.00		•									
S 642 COLS LAME LIME, TYPE 1, 6" 172 M S543 23 S934 36 S545 50 S938 95 S3500 S91180 S 642 COLS RAMINAL OF PARTINAL TYPE 1, 4" 600 FT \$15.4 \$144 76 \$15.5 \$14.5 \$14.470 \$15.5 \$15.0 \$11.00 64 402 COLS REMOVAL OF PARTIMARING UNE OF SYMEDL WATER, AS DRECTED 1/100 FT \$2.41 \$2.682.00 \$72.10 \$14.420 \$70.00 \$14.00 7 642 COLS REMOVAL OF PARTIMARING UNE OF SYMEDL WATER, AS DRECTED 2.00 FA \$35.87.4 \$71.74 \$300.50 \$72.10.0 \$35.00 \$70.00.0 8642 COLS SMEDL MARKING, TYPE 1, 7" 2.00 FA \$35.07 \$15.35.0 \$3.09 \$154.50 \$3.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00 \$30.00 \$150.00		•					1.1				1 - /
942 COLS PARNNG LOT STALL MARKING, TYPE 1, 4° 94.00 PT \$1.54 \$1.44.76 \$1.55 \$1.45.70 \$1.50 \$1.41.00 95 942 COLS REMOVAL OF PVAIT MARKING UNE BY PRESSURZED WATER, AS DIRECTED 1,1200 FT \$2.17.5 \$1.43.50 \$2.24 \$2.27.10.40 \$2.35 \$2.83.00 \$70.00 \$140.00 95 942 COLS SHEMOVAL OF PVAIT MARKING WORD OR SYMBOL BY PRESSURZED WATER, AS DIRECTED 2.00 EA \$35.7.17.16 \$30.60 \$77.100 \$144.20 \$25.00 \$70.00 \$140.00 96 96.20 COLS SHEED HUMP MARKING, TYPE 1, 27 2.00 EA \$25.70 \$515.00 \$25.00 \$500.00 96 42 COLS SPEED HUMP MARKING, CHE'RON, TYPE 1, 27 50.00 FT \$30.7 \$153.50 \$3.00 \$154.50 \$3.00 \$10.00 96 42 COLS SPEED HUMP MARKING, CHE'RON, TYPE 1, 27 100 EA \$33.7 \$153.50 \$3.00 \$11.00 \$10.00 \$3.00 \$12.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>											
542 COLS REMOVAL OF PVAIT MARKING LINE BY PRESSURIZED WATER, AS DIRECTED 1,1200 FT \$2,41 \$2,699,20 \$2,24 \$2,710,40 \$2,35 \$2,30,0 \$1,00,0 56 642 COLS REMOVAL OF PVAIT MARKING WORD OR SYMBOL BY PRESSURIZED WATER, AS DIRECTED 2,00 EA \$71,75 \$143,50 \$72,10 \$340,00 \$70,00 \$140,00 56 642 COLS SCHOOL SYMBOL MARKING, TYPE 1, 72* 2,00 EA \$255,24 \$512,48 \$320,50 \$71,00 \$340,00 \$350,00 \$700,00 \$350,00 \$700,00 \$350,00 \$350,00 \$700,00 \$350,00 \$700,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$550,00 \$350,00 \$350,00 \$550,00 \$350,00 \$550,00 \$350,00 \$550,00 \$550,00 \$550,00 \$550,00 \$550,00 \$550,00 \$550,00 \$510,00 \$550,00	54	642			FT						
56 642 COLS REMOVAL OF PVAIT MARKING WORD OR SYMBOL BY PRESSURGED WATER, AS DRECTED 200 EA \$71.75 \$143.50 \$72.10 \$144.20 \$300.0 \$70.00 \$140.00 57 642 COLS SCHOOL SYMBOL MARKING, TYPE 1, 72° 2.00 EA \$358.74 \$71.74.8 \$300.50 \$72.10 \$350.00 \$70.00 \$140.00 64 COLS SHARED LAME MARKING, TYPE 1, 72° 0.00 FT \$30.7 \$153.50 \$30.9 \$154.50 \$30.0 \$150.00 \$30.0 \$150.00 \$30.0 \$150.00 64 COLS SPEED HUMP MARKING, GAR, TYPE 1, 12° 0.00 FT \$30.7 \$153.50 \$3.09 \$154.50 \$3.00 \$150.00 64 COLS STOP LINE, TYPE 1, 24° 100.0 FT \$5.12 \$1049.60 \$5.15 \$10.057.55 \$5.50.0 \$11.00.00 64 COLS VELOW TRANSVERSE LINE, TYPE 1, 24° 200.0 FT \$5.12 \$10.49.60 \$5.15 \$10.00 \$5.50.0 \$11.00.00 \$5.50.0	55	642	COLS REMOVAL OF PVMT MARKING LINE BY PRESSURIZED WATER, AS DIRECTED		FT		\$2,699.20	\$2.42	\$2,710.40	\$2.35	\$2,632.00
57 642 Cols School SYMBOL MARKING, TYPE 1, 72" 200 EA \$358,74 \$717,48 \$380,50 \$721,00 \$350,00 \$700,00 64 Cols SHARED LANE MARKING, TYPE 1 200 EA \$256,24 \$512,48 \$257,50 \$515,00 \$250,00 \$500,00 64 Cols SPEED HUMP MARKING, RAP TYPE 1, 18" 60.00 FT \$3.07 \$153,50 \$3.09 \$164,50 \$3.00 \$150,00 64 Cols SPEED HUMP MARKING, RAP TYPE 1, 18" 60.00 FT \$3.07 \$153,50 \$3.09 \$164,50 \$3.00 \$150,00 64 Cols SPEED HUMP MARKING, RAP TYPE 1, 12" 10.00 FT \$512 \$10,480 \$3.09 \$154,50 \$3.00 \$1190,00 64 Cols SVELO W TRANSVERSE LINE, TYPE 1, 2" 14.00 FT \$512 \$10,480 \$3.12 \$10,25,75 \$50,00 \$10,00 64 Cols SUCYLE LANE SYMBOL MARKING 19.00 FT \$512 \$10,44,755 \$12,494,3	56		COLS REMOVAL OF PVMT MARKING WORD OR SYMBOL BY PRESSURIZED WATER, AS DIRECTED								
68 642 COLS SHARED LANE MARKING, TYPE 1 200 EA \$256.24 \$512.48 \$257.50 \$516.00 \$250.00 \$30.00 \$150.00 59 642 COLS SPEED HUMP MARKING, BAR, TYPE 1, 18" 50.00 FT \$3.07 \$153.50 \$3.09 \$154.50 \$3.00 \$150.00 61 642 COLS SPEED HUMP MARKING, CHEVRON, TYPE 1, 12" 50.00 FT \$5.12 \$931.84 \$5.15 \$937.30 \$5.00 \$150.00 61 642 COLS STOP LINE, TYPE 1, 24" 182.00 FT \$5.12 \$931.84 \$5.15 \$1.055.70 \$5.00 \$11.90.00 63 642 COLS YELLOW TRANSVERSE LINE, TYPE 1, 24" 205.00 FT \$5.12 \$1.049.60 \$5.15 \$1.055.75 \$5.00 \$1.00.00 64 COLS YELLOW TRANSVERSE LINE, TYPE 1, 24" 205.00 FT \$5.12 \$1.049.60 \$5.15 \$1.055.72.30 \$5.00 \$1.00.00 64 COLS SCHATELINE, TYPE 1, 24"	57	642	COLS SCHOOL SYMBOL MARKING, TYPE 1, 72"	2.00	EA		\$717.48	\$360.50	\$721.00	\$350.00	\$700.00
60 642 COLS SPEED HUMP MARKING, CHEVRON, TYPE 1, 12" 50.0 FT \$3.07 \$153.50 \$3.09 \$154.50 \$3.00 \$150.00 61 642 COLS STOP LINE, TYPE 1, 24" 162.0 FT \$5.12 \$931.84 \$5.15 \$937.30 \$5.00 \$910.00 62 642 COLS WORD ON PAVEMENT, TYPE 1, 72" 14.00 EA \$87.12 \$1.199.68 \$87.55 \$1.225.70 \$5.00 \$1.000 \$5.00 \$1.00.00 643 COLS YELLOW TRANSVERSE LINE, TYPE 1, 24" 205.00 FT \$5.12 \$1.049.60 \$5.15 \$1.055.75 \$5.00 \$1.00.00 644 COLS BICYCLE LANE SYMBOL MARKING 19.00 EA \$333.12 \$6.329.28 \$334.75 \$6.360.25 \$325.00 \$5.10.00 \$5.10 \$5.273.0 \$5.72.30 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 <t< td=""><td>58</td><td>642</td><td>COLS SHARED LANE MARKING, TYPE 1</td><td>2.00</td><td>EA</td><td></td><td>\$512.48</td><td>\$257.50</td><td>\$515.00</td><td></td><td>\$500.00</td></t<>	58	642	COLS SHARED LANE MARKING, TYPE 1	2.00	EA		\$512.48	\$257.50	\$515.00		\$500.00
61 642 COLS STOP LINE, TYPE 1, 24* 182.00 FT <u>\$5.12 \$931.84 <u>\$5.15 \$937.30 <u>\$5.00 \$910.00 62 642 COLS WORD ON PAVEMENT, TYPE 1, 72* 14.00 EA <u>\$87.12 \$1.19.68 \$87.55 \$1.225.70 \$85.00 \$1.000 63 642 COLS YELDU INE, TYPE 1, 24* 205.00 FT <u>\$5.12 \$1.049.60 \$5.15 \$1.055.75 \$5.00 \$1.025.00 64 642 COLS YELDU INE, TYPE 1, 24* 20.00 FT \$5.12 \$1.02.40 \$5.15 \$1.03.00 \$5.00 \$1.025.00 64 COLS ICYCLE LANE SYMBOL MARKING 19.00 EA \$333.12 \$6.29.28.8 \$333.75 \$6.30.25.5 \$325.00 \$6.175.00 64 COLS CATTERLINE, SOLIDIASHED, 4* 10.00 MI \$7.462.82 \$1.044.795 \$7.494.43 \$10.499.20 \$7.281.00 \$10.20 \$5.110.00 \$5.572.30 \$5.5172.30 \$5.10.00 \$5.510.00 \$5.598.260 \$2.90 \$6.10.40 \$1.95 \$5.982.60 \$2.91 \$6.10.40 \$1.95<</u></u></u></u></u>	59	642	COLS SPEED HUMP MARKING, BAR, TYPE 1, 18"	50.00	FT	\$3.07	\$153.50	\$3.09	\$154.50	\$3.00	\$150.00
62 642 COLS WORD ON PAVEMENT, TYPE 1, 72" 14.00 EA <u>S87.12 \$1.219.68 <u>S87.55 \$1.225.70 S85.00 \$1.190.00 63 642 COLS YELD WITRANSVERSE LINE, TYPE 1, 24" 205.00 FT <u>S5.12 \$1.049.60 \$5.15 \$1.055.75 \$5.00 \$1.025.00 64 642 COLS YELD LINE, TYPE 1 2000 FT <u>S5.12 \$102.40 \$5.15 \$103.00 \$5.00 \$1.025.00 65 644 COLS BICYCLE LANE SYMBOL MARKING 1900 EA <u>S333.12 \$6.329.28 \$334.75 \$6.360.25 \$325.00 \$6.175.00 66 644 COLS CENTERLINE, DOUBLE SOLID, 4" 1.40 MI \$7.462.82 \$10.47.95 \$7.499.43 \$10.499.20 \$7.281.00 \$5.10 \$5.510 \$5.510 \$5.510 \$5.510 \$5.510 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.410.00 \$5.92.80 \$5.92.80 \$5.92.80 \$5.92.80 \$5.92.80 \$5.92.80</u></u></u></u></u>	60	642	COLS SPEED HUMP MARKING, CHEVRON, TYPE 1, 12"	50.00	FT	\$3.07	\$153.50	\$3.09	\$154.50	\$3.00	\$150.00
63 642 Cols Yellow TRANSVERSE LINE, TYPE 1, 24" 2050 FT <u>\$5.12 \$1.049.60 \$5.15 \$1.055.75 \$5.00 \$1.025.00 64 642 Cols Vield Line, TYPE 1 2000 FT <u>\$5.12 \$10240 \$5.15 \$1.055.75 \$5.00 \$1.025.00 65 644 Cols BICYCLE LANE SYMBOL MARKING 1900 EA \$333.12 \$6.329.28 \$334.75 \$6.360.25 \$325.00 \$1.025.00 66 644 Cols CENTERLINE, DOUBLE SOLID, 4" 140 MI \$7.462.82 \$1.047.95 \$5.572.30 \$5.572.30 \$5.410.00</u></u>	61	642	COLS STOP LINE, TYPE 1, 24"	182.00	FT	\$5.12	\$931.84	\$5.15	\$937.30	\$5.00	\$910.00
64 642 Cols YIELD LINE, TYPE 1 200 FT \$5.12 \$102.40 \$5.15 \$103.00 \$5.00 \$100.00 65 644 Cols BICYCLE LANE SYMBOL MARKING 19.00 EA \$333.12 \$6.329.28 \$334.75 \$6.360.25 \$325.00 \$6.175.00 66 644 Cols CENTERLINE, DOUBLE SOLID, 4" 1.40 MI \$7.462.82 \$10,447.95 \$5.572.30 \$5.572.30 \$5.410.00 \$5.02 <t< td=""><td>62</td><td>642</td><td>COLS WORD ON PAVEMENT, TYPE 1, 72"</td><td>14.00</td><td>EA</td><td>\$87.12</td><td>\$1,219.68</td><td>\$87.55</td><td>\$1,225.70</td><td>\$85.00</td><td>\$1,190.00</td></t<>	62	642	COLS WORD ON PAVEMENT, TYPE 1, 72"	14.00	EA	\$87.12	\$1,219.68	\$87.55	\$1,225.70	\$85.00	\$1,190.00
66 644 Cols BCYCLE LARE SYMBOL MARKING 19.0 EA \$333.12 \$6,329.28 \$334.75 \$6,300.25 \$325.00 \$6,175.00 66 644 Cols CENTERLINE, DOUBLE SOLD, 4* 1.40 MI \$7,462.82 \$10,447.95 \$7,499.43 \$10,499.20 \$7,281.00 \$10,193.40 67 644 Cols CENTERLINE, SOLD/DASHED, 4* 1.00 MI \$5,545.10 \$5,572.30 \$5,572.30 \$5,410.00 \$1,95 \$5,982.80 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95 \$5,982.80 \$1,95	63	642	COLS YELLOW TRANSVERSE LINE, TYPE 1, 24"	205.00	FT	\$5.12	\$1,049.60	\$5.15	\$1,055.75	\$5.00	\$1,025.00
66 644 COLS CENTERLINE, DOUBLE SOLID, 4" 1.40 MI \$7,462.82 \$10,447.95 \$7,499.43 \$10,499.20 \$7,281.00 \$10,193.40 67 644 COLS CENTERLINE, SOLID/DASHED, 4" 1.00 MI \$5,545.10 \$5,572.30 \$5,572.30 \$5,410.00 \$5,410.00 68 644 COLS CHANNELIZING LINE, 8" 304.00 FT \$2.00 \$608.00 \$2.01 \$611.04 \$1.95 \$5,982.60 69 644 COLS CHANNELIZING LINE, 12" 30,68.00 FT \$2.00 \$60,136.00 \$2.01 \$6,166.68 \$1.95 \$5,982.60 70 644 COLS COLS ROSSWALK LINE 50.00 FT \$2.97 \$148.50 \$2.99 \$149.50 \$2.90 \$145.00 71 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 4" 50.00 FT \$1.02 \$51.00 \$1.03 \$51.50 \$1.00 \$404.00 \$1.03 \$416.12 \$1.00 \$404.00 \$1.03 \$416.12 \$1.00 \$404.00 \$1.02 \$412.08 \$1.03 \$416.12 <	64	642	COLS YIELD LINE, TYPE 1	20.00	FT	\$5.12	\$102.40	\$5.15	\$103.00	\$5.00	\$100.00
67 644 COLS CENTERLINE, SOLID/DASHED, 4" 1.00 MI \$5,545.10 \$5,572.30 \$5,572.30 \$5,410.00 \$5,410.00 68 644 COLS CHANNELIZING LINE, 8" 304.00 FT \$2.00 \$608.00 \$2.01 \$611.04 \$1.95 \$592.80 69 644 COLS CHANNELIZING LINE, 12" 3,068.00 FT \$2.00 \$6,136.00 \$2.01 \$6,166.68 \$1.95 \$5,982.60 70 644 COLS CROSSWALK LINE 50.00 FT \$2.297 \$148.50 \$2.99 \$149.50 \$2.90 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.00 \$5,000 \$1.0	65	644	COLS BICYCLE LANE SYMBOL MARKING	19.00	EA	\$333.12	\$6,329.28	\$334.75	\$6,360.25	\$325.00	\$6,175.00
68 644 COLS CHANNELIZING LINE, 8" 304.00 FT \$2.00 \$608.00 \$2.01 \$611.04 \$1.95 \$592.80 69 644 COLS CHANNELIZING LINE, 12" 3,068.00 FT \$2.00 \$6,136.00 \$2.01 \$6,166.68 \$1.95 \$5,982.60 70 644 COLS CROSSWALK LINE 50.00 FT \$2.97 \$148.50 \$2.99 \$149.50 \$2.90 \$145.00 71 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 4" 50.00 FT \$1.02 \$51.00 \$1.03 \$51.50 \$1.00 \$404.00 \$1.00 \$404.00 FT \$1.02 \$412.08 \$1.03 \$416.12 \$1.00 \$404.00 \$1.03 \$416.12 \$1.00 \$404.00 \$1.03 \$3.000.00 \$770.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 \$3.000.00 \$750.00 <t< td=""><td>66</td><td>644</td><td>COLS CENTERLINE, DOUBLE SOLID, 4"</td><td>1.40</td><td>МІ</td><td>\$7,462.82</td><td>\$10,447.95</td><td>\$7,499.43</td><td>\$10,499.20</td><td>\$7,281.00</td><td>\$10,193.40</td></t<>	66	644	COLS CENTERLINE, DOUBLE SOLID, 4"	1.40	МІ	\$7,462.82	\$10,447.95	\$7,499.43	\$10,499.20	\$7,281.00	\$10,193.40
69 644 COLS CHANNELIZING LINE, 12" 3,068.00 FT \$2.00 \$6,136.00 \$2.01 \$6,166.68 \$1.95 \$5,982.60 70 644 COLS CROSSWALK LINE 50.00 FT \$2.97 \$148.50 \$2.99 \$149.50 \$2.90 \$145.00 71 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 4" 50.00 FT \$1.02 \$51.00 \$1.03 \$51.50 \$1.00 \$50.00 72 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 6" 404.00 FT \$1.02 \$412.08 \$1.03 \$416.12 \$1.00 \$404.00 73 644 COLS EDGE LINE, 4" 0.25 MI \$3.074.93 \$768.73 \$3.090.00 \$772.50 \$3.000.00 \$750.00	67	644	COLS CENTERLINE, SOLID/DASHED, 4"	1.00	МІ	\$5,545.10	\$5,545.10	\$5,572.30	\$5,572.30	\$5,410.00	\$5,410.00
70 644 COLS CROSSWALK LINE 50.00 FT \$2.97 \$148.50 \$2.99 \$149.50 \$2.90 \$145.00 71 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 4" 50.00 FT \$1.02 \$51.00 \$1.03 \$51.50 \$1.00 \$50.00 72 644 COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 6" 404.00 FT \$1.02 \$412.08 \$1.03 \$416.12 \$1.00 \$404.00 73 644 COLS EDGE LINE, 4" 0.25 MI \$3.074.93 \$768.73 \$3.090.00 \$772.50 \$3.000.00 \$750.00	68	644	COLS CHANNELIZING LINE, 8"	304.00	FT	\$2.00	\$608.00	\$2.01	\$611.04	\$1.95	\$592.80
71 644 Cols DOTTED LINE, WHITE (2' LINE; 4' GAP), 4" 50.00 FT \$1.02 \$51.00 \$1.03 \$51.50 \$1.00 \$50.00 72 644 Cols DOTTED LINE, WHITE (2' LINE; 4' GAP), 6" 404.00 FT \$1.02 \$412.08 \$1.03 \$416.12 \$1.00 \$404.00 73 644 Cols EDGE LINE, 4" 0.25 MI \$3.074.93 \$768.73 \$3.090.00 \$772.50 \$3.000.00 \$750.00	69	644	COLS CHANNELIZING LINE, 12"	3,068.00	FT	\$2.00	\$6,136.00	\$2.01	\$6,166.68	\$1.95	\$5,982.60
72 644 Cols DOTTED LINE, WHITE (2' LINE; 4' GAP), 6" 404.00 FT \$1.02 \$412.08 \$1.03 \$416.12 \$1.00 \$404.00 73 644 Cols EDGE LINE, 4" 0.25 MI \$3.074.93 \$768.73 \$3.090.00 \$772.50 \$3.000.00 \$750.00	70	644	COLS CROSSWALK LINE	50.00	FT	\$2.97	\$148.50	\$2.99	\$149.50	\$2.90	\$145.00
73 644 COLS EDGE LINE, 4" \$3,074.93 \$768.73 \$3,090.00 \$772.50 \$3,000.00 \$750.00	71	644	COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 4"	50.00	FT	\$1.02	\$51.00	\$1.03	\$51.50	\$1.00	\$50.00
	72	644	COLS DOTTED LINE, WHITE (2' LINE; 4' GAP), 6"	404.00	FT	\$1.02	\$412.08	\$1.03	\$416.12	\$1.00	\$404.00
74 644 COLS EDGE LINE, 6" 3.10 MI \$5,345.22 \$16,570.18 \$5,371.45 \$16,651.50 \$5,215.00 \$16,166.50	73	644	COLS EDGE LINE, 4"	0.25	МІ	\$3,074.93	\$768.73	\$3,090.00	\$772.50	\$3,000.00	\$750.00
	74	644	COLS EDGE LINE, 6"	3.10	МІ	\$5,345.22	\$16,570.18	\$5,371.45	\$16,651.50	\$5,215.00	\$16,166.50

75	644	COLS LANE ARROW	48.00	EA	\$95.32	\$4,575.36	\$95.79	\$4,597.92	\$93.00	\$4,464.00
	644	COLS LANE LINE, 4"			\$95.52 \$1,665.58	\$666.23	\$1,673.75	\$669.50	\$93.00	\$650.00
76 77	644 644	COLS LANE LINE, 6"	0.40	MI MI	\$1,665.58	\$3,331.16	\$1,673.75	\$3,347.50	\$1,625.00	\$3,250.00
78	644	COLS PARKING LOT STALL MARKING, TYPE 1, 4"	2.00 50.00	FT	\$2.05	\$102.50	\$2.06	\$103.00	\$2.00	\$100.00
79	644	COLS SCHOOL SYMBOL MARKING, 72"			\$614.98	\$1,229.96	\$618.00	\$1,236.00	\$600.00	\$1,200.00
80	644	COLS SHARED LANE MARKING	2.00	EA EA	\$327.99	\$655.98	\$329.60	\$659.20	\$320.00	\$640.00
81	644	COLS SPEED HUMP MARKING, BAR, TYPE 1, 18"	50.00	FT	\$10.25	\$512.50	\$10.30	\$515.00	\$10.00	\$500.00
82	644	COLS SPEED HUMP MARKING, CHEVRON, TYPE 1, 12"	50.00	FT	\$10.25	\$512.50	\$10.30	\$515.00	\$10.00	\$500.00
83	644	COLS STOP LINE, 24"	616.00		\$6.76	\$4,164.16	\$6.80	\$4,188.80	\$6.60	\$4,065.60
84	644	COLS WORD ON PAVEMENT, 72"	14.00	EA	\$128.12	\$1,793.68	\$128.75	\$1,802.50	\$125.00	\$1,750.00
85	644	COLS YIELD LINE	20.00	FT	\$8.20	\$164.00	\$8.24	\$164.80	\$8.00	\$160.00
86	647	COLS CROSSWALK LINE, 8", TYPE B90	6,406.00	FT	\$7.17	\$45,931.02	\$7.21	\$46,187.26	\$7.00	\$44,842.00
87	12659		1.00		\$204.99	\$204.99	\$160.00	\$160.00	\$26,200.00	\$26,200.00
88	12660		2,710.00	SY	\$10.76	\$29,159.60	\$8.75	\$23,712.50	\$15.85	\$42,953.50
89	12807	WEST VALVE BOXES ADJUSTED TO GRADE, ASPHALT COLLAR	1.00	EA	\$940.51	\$940.51	\$1,577.89	\$1,577.89	\$1,050.00	\$1,050.00
90	12807		8.00	EA	\$940.52	\$7,524.16	\$1,577.89	\$12,623.12	\$1,600.00	\$12,800.00
91	12816	WEST VIDEO DETECTION SYSTEM, AS PER PLAN (ITERIS VANTAGE NEXT)	3.00	EA	\$23,157.84	\$69,473.52	\$22,660.00	\$67,980.00	\$22,000.00	\$66,000.00
92	SPC	I-2A-16 TOP SECTION, REMOVE AND REPLACE	1.00	EA	\$9,250.37	\$9,250.37	\$5,000.00	\$5,000.00	\$15,500.00	\$15,500.00
93	SPC	IRON CASTINGS, AS DIRECTED	500.00	LB	\$2.46	\$1,230.00	\$3.00	\$1,500.00	\$8.00	\$4,000.00
		TRAFFIC SIGNAL MAINTENANCE								
94	614	COLS MAINTAINING TRAFFIC	1.00	LS	\$1,500.00	\$1,500.00	\$3,296.00	\$3,296.00	\$3,200.00	\$3,200.00
95	630	COLS GROUND MOUNTED SUPPORT, NO 3 POST	56.00	FT	\$26.65	\$1,492.40	\$25.70	\$1,439.20	\$26.00	\$1,456.00
96	630	COLS SIGN & POST REMOVED	1.00	EA	\$102.50	\$102.50	\$128.75	\$128.75	\$100.00	\$100.00
97	630	COLS SIGN, FLAT SHEET, TYPE G	25.00	SF	\$38.95	\$973.75	\$33.60	\$840.00	\$38.00	\$950.00
98	632	ODOT LOOP DETECTOR LEAD-IN CABLE	2,200.00	FT	\$1.34	\$2,948.00	\$2.27	\$4,994.00	\$2.20	\$4,840.00
99	632	ODOT PEDESTRIAN PUSHBUTTON, AS PER PLAN	12.00	EA	\$231.12	\$2,773.44	\$360.50	\$4,326.00	\$350.00	\$4,200.00
100	632	ODOT PEDESTRIAN SIGNAL HEAD, LED, COUNTDOWN, TYPE D2, AS PER PLAN	18.00	EA	\$745.87	\$13,425.66	\$669.50	\$12,051.00	\$650.00	\$11,700.00
101	632	ODOT REMOVAL OF TRAFFIC SIGNAL INSTALLATION, AS PER PLAN	1.00	LS	\$9,886.85	\$9,886.85	\$3,090.00	\$3,090.00	\$3,000.00	\$3,000.00
102	632	ODOT REPLACE PEDESTRIAN PUSHBUTTON SIGN	12.00	EA	\$49.56	\$594.72	\$103.00	\$1,236.00	\$100.00	\$1,200.00
103	632	ODOT SIGNAL CABLE, 3 CONDUCTOR, NO. 14 AWG	1,850.00	FT	\$1.54	\$2,849.00	\$2.57	\$4,754.50	\$2.50	\$4,625.00
104	632	ODOT SIGNAL CABLE, 7 CONDUCTOR, NO. 14 AWG	5,900.00	FT	\$2.41	\$14,219.00	\$3.86	\$22,774.00	\$3.75	\$22,125.00
105	632	ODOT SIGNAL CABLE, 9 CONDUCTOR, NO. 14 AWG	750.00	FT	\$5.59	\$4,192.50	\$4.89	\$3,667.50	\$4.75	\$3,562.50
106	632	ODOT VEH. SIGNAL HEAD, LED, BLACK, 3-SECT., 12" LENS, 1-WAY, POLY., AS PER PLAN	12.00	EA	\$964.09	\$11,569.08	\$643.75	\$7,725.00	\$625.00	\$7,500.00
107	632	ODOT VEH. SIGNAL HEAD, LED, BLACK, 3-SECT., 12" LENS, 1-WAY, POLY., W/B.PLATE, AS PER PLAN	16.00	EA	\$1,096.22	\$17,539.52	\$772.50	\$12,360.00	\$750.00	\$12,000.00
108	632	ODOT VEH. SIGNAL HEAD, LED, BLACK, 5-SECT., 12" LENS, 1-WAY, POLY., AS PER PLAN	2.00	EA	\$1,678.77	\$3,357.54	\$1,220.55	\$2,441.10	\$1,185.00	\$2,370.00
109	632	ODOT VEH. SIGNAL HEAD, LED, BLACK, 5-SECT., 12" LENS, 1-WAY, POLY., W/B.PLATE, AS PER PLAN	3.00	EA	\$1,828.62	\$5,485.86	\$1,411.10	\$4,233.30	\$1,370.00	\$4,110.00
110	816	ODOT VIDEO DETECTION SYSTEM, AS PER PLAN (ITERIS VECTOR)	2.00	EA	\$12,295.11	\$24,590.22	\$12,875.00	\$25,750.00	\$12,500.00	\$25,000.00
111	816	ODOT VIDEO DETECTION SYSTEM, AS PER PLAN (ITERIS VERSICAM)	2.00	EA	\$9,521.80	\$19,043.60	\$9,270.00	\$18,540.00	\$9,000.00	\$18,000.00
		BRIDGE REPAIRS AND CLEARING								
112	512	COLS SEALING OF CONCRETE SURFACES (NON-EPOXY)	2,858.00	SY	\$12.30	\$35,153.40	\$12.36	\$35,324.88	\$12.00	\$34,296.00
113	614	COLS LAW ENFORCEMENT OFFICER, AS DIRECTED	48.00	HR	\$73.80	\$3,542.40	\$80.00	\$3,840.00	\$80.00	\$3,840.00

114	614	COLS MAINTAINING TRAFFIC	1.00	LS	\$5,944.84	\$5,944.84	\$9,785.00	\$9,785.00	\$12,500.00	\$12,500.00
115	624	COLS MOBILIZATION	1.00	LS	\$1,188.96	\$1,188.96	\$8,240.00	\$8,240.00	\$6,500.00	\$6,500.00
116	516	ODOT STRUCTURAL JOINT OR JOINT SEALER.: SILICONE SEALANT	27.00	FT	\$128.12	\$3,459.24	<mark>\$298.70</mark>	<u>\$8,064.90</u>	<mark>\$125.00</mark>	<u>\$3,375.00</u>
117	846	ODOT POLYMER MODIFIED ASPHALT EXPANSION JOINT SYSTEM	45.00	CF	\$510.33	\$22,964.85	\$721.00	\$32,445.00	<mark>\$799.99</mark>	\$35,999.55
		INFORMAL TOTAL BASE BID, ITEMS 1-117				\$1,678,265.52		\$1,679,724.96		\$1,991,467.01
		BID ALTERNATE A - RESURFACING OF DEMPSEY RD IN FRA CO JURISDICTION								
A-1	254	COLS PAVEMENT PLANING, 3", ASPHALT CONCRETE	4,253.00	SY	\$2.96	\$12,588.88	\$3.55	\$15,098.15	\$4.05	\$17,224.65
A-2	407	COLS NON TRACKING TACK COAT (0.07 GAL/SY)	300.00	GAL	\$4.84	\$1,452.00	\$4.05	\$1,215.00	\$2.40	\$720.00
A-3	441	COLS ASPHALT CONCRETE, INT. COURSE, PG64-22	5.00	CY	\$179.24	\$896.20	\$169.18	\$845.90	\$202.00	\$1,010.00
A-4	441	COLS ASPHALT CONCRETE, INT. COURSE, TYPE 2, PG64-28	190.00	CY	\$188.80	\$35,872.00	\$175.18	\$33,284.20	\$202.00	\$38,380.00
A-5	441	COLS ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) PG64-22	5.00	CY	\$198.07	\$990.35	\$217.68	\$1,088.40	\$362.20	\$1,811.00
A-6	441	COLS ASPHALT CONCRETE, SUR. COURSE, TYPE 1, PG70-22M	190.00	CY	\$201.21	\$38,229.90	\$210.14	\$39,926.60	\$362.20	\$68,818.00
A-7	604	COLS MONUMENT BOX ADJUSTED TO GRADE	3.00	EA	\$102.12	\$306.36	\$300.00	\$900.00	\$1,250.00	\$3,750.00
A-8	632	ODOT DETECTOR LOOP	2.00	EA	\$3,429.29	\$6,858.58	\$2,884.00	\$5,768.00	\$2,800.00	\$5,600.00
A-9	632	ODOT LOOP DETECTOR LEAD-IN CABLE	125.00	FT	\$2.83	\$353.75	\$2.27	\$283.75	\$2.20	\$275.00
A-10	644	COLS CHANNELIZING LINE, 8"	202.00	FT	\$2.10	\$424.20	<u>\$2.01</u>	\$406.02	\$1.95	\$393.90
A-11	644	COLS EDGE LINE, 6"	0.78	MI	\$5,605.46	\$4,372.26	\$5,371.45	\$4,189.73	\$5,215.00	\$4,067.70
A-12	644	COLS LANE ARROW	3.00	EA	\$99.96	\$299.88	\$95.79	\$287.37	\$93.00	\$279.00
A-13	644	COLS STOP LINE, 24"	93.00	FT	\$7.09	\$659.37	\$6.80	\$632.40	\$6.60	\$613.80
A-14	644	COLS WORD ON PAVEMENT, 72"	1.00	EA	\$134.36	\$134.36	\$128.75	\$128.75	\$125.00	\$125.00
A-15	644	COLS YELLOW TRANSVERSE LINE 24"	40.00	FT	\$9.67	\$386.80	\$9.27	\$370.80	\$9.00	\$360.00
		INFORMAL BID ALTERNATE A, ITEMS A-1 thru A-15				\$103,824.89		\$104,425.07		\$143,428.05